EXHIBIT A

Timekeeper	Title	Date	Hours	Rato	Amount	Narrative
Rios, Sophia	Shareholder	10/18/2022	0.50	820.00		Research CashApp referral process
Rios, Sophia	Shareholder	10/10/2022	0.30	820.00		Draft email to EMD re Cash App research
	Shareholder	10/24/2022	1.00			Discuss CashApp with EMD; draft and send email to Terrell Marshal
	Shareholder	4/17/2023	0.20	820.00		Coordinate campaign to identify putative class members
	Shareholder	4/18/2023	0.20			Coordinate campaign to identify putative class members
	Legal Project Analyst	4/25/2023	0.10			preparing docs/prompts for CashApp calls with putative class members
	Legal Project Analyst	4/26/2023	0.30	325.00		calling putative class members - 1st attempt
Hemphill, Noel	Legal Project Analyst	4/26/2023	2.50			calling CashApp putative class members for intake, 1st attempts
Tiomprim, rioor	Logar i Tojoot / maryot	1/20/2020	2.00	020.00	012.00	reviewing CashApp materials, content, and questions for
Hemphill, Noel	Legal Project Analyst	4/26/2023	0.70	325.00	227.50	putative class members
Rios, Sophia	Shareholder	4/26/2023	0.20	820.00	164.00	Coordinate campaign to identify putative class members
Hemphill, Noel	Legal Project Analyst	4/27/2023	1.40	325.00	455.00	calling, emailing CashApp putative class members for intake
Hemphill, Noel	Legal Project Analyst	4/27/2023	0.50	325.00	162.50	calling, emailing CashApp putative class members for intake
Hemphill, Noel	Legal Project Analyst	4/27/2023	0.20	325.00	65.00	calling, emailing CashApp putative class members for intake
Hemphill, Noel	Legal Project Analyst	4/27/2023	0.90	325.00	292.50	calling, emailing CashApp putative class members for intake
Amland, Megan	Legal Project Analyst	4/28/2023	1.00	340.00	340.00	Reviewing case materials and creating
-	·					
Hemphill, Noel	Legal Project Analyst	4/28/2023	1.80	325.00	585.00	calling, emailing cash app putative class members for intake, 1st, 2nd and 3rd attempts
Hemphill, Noel	Legal Project Analyst	4/28/2023	0.50	325.00		preparing case notes for CashApp for LPA transfer
Hemphill, Noel	Legal Project Analyst	4/28/2023	2.50	325.00	812.50	calling, emailing putative class members for intake, 1st and 2nd attempts
Hemphill, Noel	Legal Project Analyst	4/28/2023	0.50	325.00	162.50	replying to cashapp putative class members, sending declines
Rios, Sophia	Shareholder	4/28/2023	0.20	820.00	164.00	Coordinate campaign to identify putative class members
Amland, Megan	Legal Project Analyst	5/1/2023	1.50	340.00	510.00	Making calls to putative class members, voicemails and follow up emails.
Hemphill, Noel	Legal Project Analyst	5/1/2023	1.40	325.00		calling, emailing Cashapp putative class members
Hemphill, Noel	Legal Project Analyst	5/1/2023	0.80	325.00	260.00	calling, emailing Cashapp putative class members
Hemphill, Noel	Legal Project Analyst	5/1/2023	2.50	325.00		calling, emailing cashapp putative class members
Hemphill, Noel	Legal Project Analyst	5/1/2023	0.30	325.00	97.50	reviewing cashapp putative class members decline calls and emails
Amland, Megan	Legal Project Analyst	5/2/2023	0.50	340.00	170.00	Sending declination emails to intakes who do not meet class criteria
Amland, Megan	Legal Project Analyst	5/2/2023	2.50	340.00	850.00	Making putative class member calls, voicemails and follow up emails.
Hemphill, Noel	Legal Project Analyst	5/2/2023	0.30	325.00	97.50	Sending declination emails to intakes who do not meet class criteria
Hemphill, Noel	Legal Project Analyst	5/2/2023	2.50	325.00	812.50	calling, emailing Cashapp putative class members; sending declines to potential class reps
Hemphill, Noel	Legal Project Analyst	5/2/2023	1.60	325.00		calling, emailing Cashapp putative class members
Amland, Megan	Legal Project Analyst	5/3/2023	2.00	340.00		Making calls, voicemails and follow up emails w putative class members
Amland, Megan	Legal Project Analyst	5/3/2023	0.50	340.00	170.00	Sending declination emails to intakes who do not meet class criteria
Hemphill, Noel	Legal Project Analyst	5/3/2023	0.20	325.00	65.00	Sending declination emails to intakes who do not meet class criteria
Hemphill, Noel	Legal Project Analyst	5/3/2023	1.70	325.00	552.50	calling, emailing CashApp putative class members
Hemphill, Noel	Legal Project Analyst	5/3/2023	1.70	325.00	552.50	calling, emailing CashApp putative class members
Hemphill, Noel	Legal Project Analyst	5/3/2023	0.40	325.00	130.00	reviewing cashapp putative class members
Amland, Megan	Legal Project Analyst	5/4/2023	0.50	340.00	170.00	Responding to putative class members emails.
	Legal Project Analyst	5/4/2023	0.50	340.00		Sending declination emails to intakes who do not meet class criteria
	Legal Project Analyst	5/4/2023	2.00	340.00	680.00	Making calls, voicemails and follow up emails w putative class members
	Legal Project Analyst	5/4/2023	1.60			Sending declination emails to potential class reps
	Legal Project Analyst	5/4/2023	2.00	325.00		calling cashapp putative class members

Hemphill, Noel Legal Project Analyst 5/9/2023 2.20 325.00 65.00 who do not meet class criteria		-					
Amland, Megan Legal Project Analyst 5/5/2023 2.00 340.00						32.50	calling CashApp putative class members; sending decline to potential class reps
Amland, Megan Legal Project Analyst 55/20/23 2.00 340.00 880.00 Making calls, vocimenalis and follow up emails or putative class members			5/4/2023	0.50	325.00		
Amland, Megan Legal Project Analyst 55/20/23 2.0 340.00 680.00 Making calls, voicemails and follow up emails w putative class members							
Hemphill, Noel Legal Project Analyst 56/20/23 0.50 325.00 162.50 calling CashApp putative class members; sending decline to potential class reps				1.00			
Hemphill, Noel				2.00			
Hemphill, Noel Legal Project Analyst 5/5/2023 1.0 325.00 130.00 atty meeting times	Hemphill, Noel	Legal Project Analyst	5/5/2023	0.50	325.00	162.50	
Hemphili, Noel Legal Project Analyst 5/5/2023 1.0 325.00 357.50 contacting CashApp putative class members Legal Project Analyst 5/6/2023 0.50 325.00 162.50 deviewing new putative class members Legal Project Analyst 5/6/2023 0.50 340.00 170.00 Sending detains emails to intakes who do not meet class criteria familiand, Megan Legal Project Analyst 5/6/2023 1.50 340.00 170.00 Sending detains emails to intakes who do not meet class criteria familiand, Megan Legal Project Analyst 5/6/2023 2.0 340.00 170.00 Sending detains emails to intakes who do not meet class criteria familiand, Megan Legal Project Analyst 5/6/2023 3.50 340.00 17.90.00 Making calls, voicemails and follow up emails w putative class members Aniland, Megan Legal Project Analyst 5/9/2023 1.10 340.00 510.00 Sending detains and follow up emails w putative class members Aniland, Megan Legal Project Analyst 5/9/2023 1.50 340.00 510.00 Sending detaination emails to intakes who do not meet class criteria Hemphili, Noel Legal Project Analyst 5/9/2023 1.50 340.00 510.00 Sending detaination emails to intakes who do not meet class criteria detains to the sending detains and follow up emails w putative class members and an 3rd attempts and 5/9/2023 3.60 340.00 510.00 Sending detaination emails to intakes who do not meet class criteria detains to the sending detains and follow up emails with the sending detains to the sending detains and follow up emails and follow up emails sending detains to the							
Hemphill, Noel Legal Project Analyst 5/5/2023 0.50 345,00 162.50 170,00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/6/2023 5.0 340,00 170,00 Sending declination emails to intakes who do not meet class criteria 180,00 180,	Hemphill, Noel			0.40			
Amland, Megan Legal Project Analyst 5/8/20/3 1.50 340.00 170,00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/8/20/3 1.50 340.00 510.00 Making calls, voicemails and follow up emails w putative class members (18/20/3 1.50 18/20/20/3 1.50 18/2	Hemphill, Noel	Legal Project Analyst	5/5/2023	1.10	325.00	357.50	contacting CashApp putative class members
Amland, Megan Legal Project Analyst 5/8/20/3 1.50 340.00 170,00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/8/20/3 1.50 340.00 510.00 Making calls, voicemails and follow up emails w putative class members (18/20/3 1.50 18/20/20/3 1.50 18/2							
Amland, Megan Legal Project Analyst 5/8/2023 1.50 340.00 510.00 Making calls, voicemails and follow up emails w putative class members	Hemphill, Noel	Legal Project Analyst	5/5/2023	0.50	325.00	162.50	reviewing new putative class members ; sending declines to non-WA intakes
Hemphili, Noel Legal Project Analyst 5/8/2023 3.25 0 65.00 contacting cashapp putative class members _ 2nd/3rd attempts Amland, Megan Legal Project Analyst 5/9/2023 3.50 340.00 1,190.00 Making calls, voicemails and follow up emails w putative class members Amland, Megan Legal Project Analyst 5/9/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Hemphili, Noel Legal Project Analyst 5/9/2023 0.20 325.00 537.50 contacting cashapp putative class members, 2nd and 3rd attempts calling cashapp putative class members, sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/9/2023 0.20 325.00 65.00 who do not meet class criteria Amland, Megan Legal Project Analyst 5/10/2023 1.00 340.00 340.00 Sending declination emails to potential class reps Amland, Megan Legal Project Analyst 5/10/2023 2.00 340.00 Sending declination emails to potential class reps Amland, Megan Legal Project Analyst 5/11/2023 3.00 325.00 195.00 responding to cashapp putative class members, voicemails and follow up emails Hemphili, Noel Legal Project Analyst 5/11/2023 3.50 340.00 340.00 Making putative class member semalis; sending declines Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 340.00 Making putative class member semalis; sending declines Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 11/90.00 Making putative class members with sembers semalis and follow up emails Hemphili, Noel Legal Project Analyst 5/11/2023 3.50 340.00 170.00 Making putative class members for intake, 3rd attempt and atty mtg call Amland, Megan Legal Project Analyst 5/15/2023 3.50 340.00 170.00 Making 2nd & 3rd attempt putative class members for intake, 3rd attempt and atty mtg call Amland, Megan Legal Project Analyst 5/15/2023 3.50 340.00 170.00 Making 2nd & 3rd attempt putative class members Amland, Megan Legal Project Analyst 5/16/2023 3.50 340.00 170.00 Making 2nd & 3rd attempt putative class members Amland, Megan Legal Proje	Amland, Megan	Legal Project Analyst	5/8/2023	0.50	340.00	170.00	Sending declination emails to intakes who do not meet class criteria
Amland, Megan Legal Project Analyst 5/9/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Hemphill, Noel Legal Project Analyst 5/9/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Hemphill, Noel Legal Project Analyst 5/9/2023 1.00 325.00 375.50 contacting cashapp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts and follow up emails and follow up emails and follow up emails and 5/10/2023 2.00 340.	Amland, Megan	Legal Project Analyst					
Amland, Megan Legal Project Analyst 5/9/2023 1.50 325.00 357.50 contacting cashapp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempts calling CashApp putative class members, 2nd and 3rd attempt calling CashApp putative class members, 2nd	Hemphill, Noel	Legal Project Analyst	5/8/2023	0.20	325.00	65.00	contacting cashapp putative class members , 2nd/3rd attempts
Hemphill, Noel Legal Project Analyst 5/9/2023 1.10 325.00 357.50 contacting cashapp putative class members, 2nd and 3rd attempts	Amland, Megan	Legal Project Analyst	5/9/2023	3.50	340.00	1,190.00	Making calls, voicemails and follow up emails w putative class members
Hemphill, Noel Legal Project Analyst 5/9/2023 0.20 325.00 65.00 who do not meet class criteria Amland, Megan Legal Project Analyst 5/10/2023 1.00 340.00 340.00 340.00 Sending declination emails to potential class reps/individual Hemphill, Noel Legal Project Analyst 5/10/2023 2.00 340.00 680.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails Hemphill, Noel Legal Project Analyst 5/11/2023 1.00 340.00 340.00 Making 2nd & 3rd attempt calls w putative class members emails; sending declines Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making putative class members calls, voicemails and follow up emails Hemphill, Noel Legal Project Analyst 5/11/2023 0.50 325.00 19.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails Hemphill, Noel Legal Project Analyst 5/11/2023 0.50 325.00 19.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 170.00 Making calls w putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Mega	Amland, Megan	Legal Project Analyst	5/9/2023	1.50	340.00	510.00	Sending declination emails to intakes who do not meet class criteria
Hemphill, Noel Legal Project Analyst 5/9/2023 0.20 325.00 65.00 who do not meet class criteria Amland, Megan Legal Project Analyst 5/10/2023 1.00 340.00 680.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails Hemphill, Noel Legal Project Analyst 5/10/2023 1.00 340.00 195.00 Project Analyst 5/10/2023 1.00 340.00 Making putative class members emails; sending declination Amland, Megan Legal Project Analyst 5/11/2023 1.00 340.00 340.00 Making putative class members emails; sending declination Amland, Megan Legal Project Analyst 5/11/2023 1.00 340.00 Making putative class members emails; sending declination Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making putative class members emails; sending declination Amland, Megan Legal Project Analyst 5/11/2023 3.50 325.00 162.50 contacting CashApp putative class members for intake, 3rd attempt and atty mtg call Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members for intake, 3rd attempt and atty mtg call Amland, Megan Legal Project Analyst 5/12/2023 2.50 340.00 170.00 Making calls w putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making putative class members ca	Hemphill, Noel	Legal Project Analyst	5/9/2023	1.10	325.00	357.50	contacting cashapp putative class members, 2nd and 3rd attempts
Amland, Megan Legal Project Analyst 5/10/2023 1.00 340.00 340.00 Sending declination emails to potential class reps Amland, Megan Legal Project Analyst 5/10/2023 2.00 340.00 680.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/10/2023 3.00 340.00 340.00 Making 2nd & 3rd attempt calls w putative class members emails; sending declines Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,90.00 Making putative class member calls, voicemails and follow up emails. Hemphili, Noel Legal Project Analyst 5/11/2023 3.50 340.00 1,90.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 2.50 340.00 170.00 Making calls w putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analy							calling CashApp putative class members; sending decline to potential class reps/individuals
Amland, Megan Legal Project Analyst 5/10/2023 2.00 340.00 680.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/11/2023 1.00 340.00 340.00 Making putative class members emails; sending declines Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/11/2023 0.50 325.00 162.50 contacting CashApp putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt calls w putative class members for intake, 3rd attempt and atty mtg call was putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 2.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 1.530.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class members and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Sending declination emails to intakes who do not meet class criteria and coordinate and coordina	Hemphill, Noel	Legal Project Analyst	5/9/2023	0.20	325.00	65.00	who do not meet class criteria
Hemphill, Noel Legal Project Analyst 5/10/2023 0.60 325.00 195.00 responding to cashapp putative class members emails; sending declines Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members for intake, 3rd attempt and atty mtg call amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members for intake, 3rd attempt and atty mtg call amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines and coordinate Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 1.066.00 Call with lead plaintiff, draft and coordinate Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 1.700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/	Amland, Megan	Legal Project Analyst	5/10/2023	1.00	340.00	340.00	Sending declination emails to potential class reps
Hemphill, Noel Legal Project Analyst 5/10/2023 0.60 325.00 195.00 responding to cashapp putative class members emails; sending declines Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members for intake, 3rd attempt and atty mtg call amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members for intake, 3rd attempt and atty mtg call amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines and coordinate Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 1.066.00 Call with lead plaintiff, draft and coordinate Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 1.700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/							
Hemphill, Noel Legal Project Analyst 5/10/2023 0.60 325.00 195.00 responding to cashapp putative class members emails; sending declines Amland, Megan Legal Project Analyst 5/11/2023 1.00 340.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails themphill, Noel Legal Project Analyst 5/11/2023 0.50 325.00 162.50 contacting CashApp putative class members for intake, 3rd attempt and atty mtg call and atty mtg call themphill, Noel Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt calls w putative class members for intake, 3rd attempt and atty mtg call themphill, Noel Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Sending declination emails to intakes who do not meet class criteria and coordinate formation of the putative class members in the pu	Amland, Megan	Legal Project Analyst	5/10/2023	2.00	340.00	680.00	Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails.
Amland, Megan Legal Project Analyst 5/11/2023 3.50 340.00 1,190.00 Making 2nd & 3rd attempt calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members for intake, 3rd attempt and atty mtg call making 2nd & 3rd attempt calls w putative class members for intake, 3rd attempt and atty mtg call name and putative class members for intake, 3rd attempt and atty mtg call name and follow up emails. Amland, Megan Legal Project Analyst 5/12/2023 2.50 340.00 850.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 4.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Sending declination emails to intakes who do not meet class criteria and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 1,066.00 Call with lead plaintiff; draft and coordinate and coordina	Hemphill, Noel		5/10/2023	0.60	325.00	195.00	responding to cashapp putative class members emails; sending declines
Hemphill, Noel Legal Project Analyst 5/11/2023 0.50 325.00 162.50 contacting CashApp putative class members for intake, 3rd attempt and atty mtg call Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 4.50 340.00 1,530.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Drafting Draf	Amland, Megan	Legal Project Analyst	5/11/2023	1.00	340.00	340.00	Making putative class member calls, voicemails and follow up emails.
Hemphill, Noel Legal Project Analyst 5/11/2023 0.50 325.00 162.50 contacting CashApp putative class members for intake, 3rd attempt and atty mtg call Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 4.50 340.00 1,530.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Drafting Draf							
Amland, Megan Legal Project Analyst 5/12/2023 0.50 340.00 170.00 Making calls w putative class members, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 4.50 340.00 1,530.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 1,530.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 1.30 820.00 1,066.00 Gellowing up with Cash App putative class members; sending declines Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate and coor	Amland, Megan	Legal Project Analyst	5/11/2023	3.50	340.00		
Amland, Megan Legal Project Analyst 5/12/2023 2.50 340.00 850.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 1,530.00 Making 2nd & 3rd attempt putative class members Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphili, Noel Legal Project Analyst 5/16/2023 1.30 820.00 1,066.00 Following up with Cash App putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 1.700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class members Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Hemphill, Noel	Legal Project Analyst	5/11/2023	0.50	325.00		
Amland, Megan Legal Project Analyst 5/12/2023 2.50 340.00 850.00 Making 2nd & 3rd attempt putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 1,530.00 Making 2nd & 3rd attempt putative class members Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphili, Noel Legal Project Analyst 5/16/2023 1.30 820.00 1,066.00 Following up with Cash App putative class members calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 1.700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class members Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst	5/12/2023	0.50	340.00	170.00	Making calls w putative class members, voicemails and follow up emails.
Amland, Megan Legal Project Analyst 5/15/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 Making putative class member calls, voicemails and follow up emails. Call with lead plaintiff; draft and coordinate and coordinate sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 0.50 340.00 850.00 Making putative class members							
Amland, Megan Legal Project Analyst 5/15/2023 4.50 340.00 170.00 Making calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate and coordinate and coordinate sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/17/2023 5.00 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/17/2023 5.00 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 50.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 510.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst		2.50	340.00		
Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Drafting Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate Amland, Megan Legal Project Analyst 5/17/2023 5.00 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails.	Amland, Megan	Legal Project Analyst	5/15/2023	1.50	340.00	510.00	Sending declination emails to putative class members
Amland, Megan Legal Project Analyst 5/16/2023 0.50 340.00 170.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/17/2023 5.00 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst	5/15/2023	4.50	340.00	1,530.00	Making calls, voicemails and follow up emails.
Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst	5/16/2023	0.50	340.00	170.00	Drafting
Amland, Megan Legal Project Analyst 5/16/2023 1.50 340.00 510.00 Sending declination emails to intakes who do not meet class criteria Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members							
Amland, Megan Legal Project Analyst 5/16/2023 4.00 340.00 1,360.00 Making putative class member calls, voicemails and follow up emails. Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst	5/16/2023	0.50	340.00	170.00	Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails.
Hemphill, Noel Legal Project Analyst 5/16/2023 0.20 325.00 65.00 following up with Cash App putative class members; sending declines Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst	5/16/2023	1.50	340.00	510.00	Sending declination emails to intakes who do not meet class criteria
Rios, Sophia Shareholder 5/16/2023 1.30 820.00 1,066.00 Call with lead plaintiff; draft and coordinate Amland, Megan Legal Project Analyst 5/17/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 5.00 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class member calls, voicemails and follow up emails.	Amland, Megan	Legal Project Analyst	5/16/2023	4.00	340.00	1,360.00	Making putative class member calls, voicemails and follow up emails.
Amland, MeganLegal Project Analyst5/17/20231.50340.00510.00Sending declination emails to putative class membersAmland, MeganLegal Project Analyst5/17/20235.00340.001,700.00Making putative class member calls, voicemails and follow up emails.Amland, MeganLegal Project Analyst5/18/20231.50340.00510.00Sending declination emails to putative class membersAmland, MeganLegal Project Analyst5/18/20232.50340.00850.00Making putative class member calls, voicemails and follow up emails.Amland, MeganLegal Project Analyst5/19/20230.50340.00170.00Sending declination emails to putative class members	Hemphill, Noel	Legal Project Analyst	5/16/2023	0.20	325.00	65.00	following up with Cash App putative class members; sending declines
Amland, Megan Legal Project Analyst 5/17/2023 5.00 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Rios, Sophia	Shareholder	5/16/2023	1.30	820.00	1,066.00	Call with lead plaintiff; draft and coordinate
Amland, Megan Legal Project Analyst 5/17/2023 5.00 340.00 1,700.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/18/2023 1.50 340.00 510.00 Sending declination emails to putative class members Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst	5/17/2023	1.50	340.00	510.00	Sending declination emails to putative class members
Amland, MeganLegal Project Analyst5/18/20231.50340.00510.00Sending declination emails to putative class membersAmland, MeganLegal Project Analyst5/18/20232.50340.00850.00Making putative class member calls, voicemails and follow up emails.Amland, MeganLegal Project Analyst5/19/20230.50340.00170.00Sending declination emails to putative class members	Amland, Megan			5.00			
Amland, Megan Legal Project Analyst 5/18/2023 2.50 340.00 850.00 Making putative class member calls, voicemails and follow up emails. Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members			5/18/2023	1.50	340.00	510.00	Sending declination emails to putative class members
Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Sending declination emails to putative class members	Amland, Megan	Legal Project Analyst	5/18/2023	2.50	340.00	850.00	Making putative class member calls, voicemails and follow up emails.
	Amland, Megan		5/19/2023	0.50	340.00	170.00	Sending declination emails to putative class members
Amland, Megan Legal Project Analyst 5/19/2023 0.50 340.00 170.00 Making putative class member calls, voicemails and follow up emails.		Legal Project Analyst	5/19/2023	0.50	340.00	170.00	Making putative class member calls, voicemails and follow up emails.

Hibney Jane	Developed	E/40/2022	0.70	F00 00	350.00	Calla fallow up amaila na
Hibray, Jean	Paralegal	5/19/2023	0.70			Calls follow up emails re Email with S Rios re
Hibray, Jean	Paralegal	5/19/2023	0.10			
Rios, Sophia	Shareholder	5/19/2023	0.30	820.00		Coordinate
Amland, Megan	Legal Project Analyst	5/22/2023	1.00	340.00	340.00	Sending declination emails to putative class members
		F /00 /0000	0.50	0.40.00	050.00	
Amland, Megan	Legal Project Analyst	5/22/2023	2.50	340.00	850.00	Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails.
Hibray, Jean	Paralegal	5/22/2023	0.30	500.00		Meet with
Hibray, Jean	Paralegal	5/22/2023	0.30	500.00		Review execute and return
Amland, Megan	Legal Project Analyst	5/23/2023	1.00	340.00		Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	5/23/2023	4.00	340.00		Making putative class member calls, voicemails and follow up emails.
Drake, E. Michelle	Executive Shareholder	5/23/2023	0.40	,		meet with S Rios and M. DeSanto re
Rios, Sophia	Shareholder	5/23/2023	0.30			Discuss updates and next steps with EMD and MD
Amland, Megan	Legal Project Analyst	5/24/2023	1.00	340.00	340.00	Responding to putative class members' emails.
Amland, Megan	Legal Project Analyst	5/24/2023	1.00	340.00		Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	5/24/2023	5.00	340.00	1,700.00	Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	5/25/2023	2.50	340.00	850.00	Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	5/26/2023	2.00	340.00	680.00	Responding to putative class members emails.
Amland, Megan	Legal Project Analyst	5/26/2023	3.00	340.00	1,020.00	Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	5/30/2023	0.50	340.00	170.00	Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	5/30/2023	1.50	340.00		Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	5/31/2023	4.00	340.00		Making putative class member calls, voicemails and follow up emails.
,	, ,					Draft complaint. Exchange emails about
DeSanto, Mark	Shareholder	5/31/2023	3.40	855.00	2,907.00	
Drake, E. Michelle	Executive Shareholder	5/31/2023		1,180.00		call with cocounsel re filing
Amland, Megan	Legal Project Analyst	6/1/2023	1.00			Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	6/1/2023	4.50			Making putative class member calls, voicemails and follow up emails.
,a,ga		0, 1, 2020		0.0.00	.,000.00	Analyze drafting complaint. Call with Sophia to
DeSanto, Mark	Shareholder	6/1/2023	0.90	855.00	769 50	discuss same.
Drake, E. Michelle	Executive Shareholder	6/1/2023	0.90			
Rios, Sophia	Shareholder	6/1/2023	1.10	-		Review
Amland, Megan	Legal Project Analyst	6/2/2023	1.00			Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	6/2/2023	4.00	340.00		Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	6/5/2023	1.00	340.00		Responding to putative class members' emails.
Amland, Megan	Legal Project Analyst	6/5/2023	1.00	340.00		Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	6/5/2023	2.00			Making putative class member calls, voicemails and follow up emails.
Amanu, Wegan	Legal Project Allalyst	0/3/2023	2.00	340.00	000.00	Draft complaint and circulate to internal team; review emails with co-counsel regarding
DeSanto, Mark	Shareholder	6/5/2023	0.80	855.00	684.00	
Drake, E. Michelle	Executive Shareholder	6/5/2023	0.30			emails with S Rios re
Rios, Sophia	Shareholder		0.30			Call with client re
Amland, Megan		6/5/2023 6/6/2023	1.50			Sending declination emails to putative class members
	Legal Project Analyst					Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	6/6/2023	3.50			
Amland, Megan	Legal Project Analyst	6/7/2023	0.50			Responding to putative class members' emails.
Amland, Megan	Legal Project Analyst	6/7/2023	0.50	340.00		Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	6/12/2023	0.50	340.00	170.00	Sending declination emails to putative class members

		0/40/0000	0.50	
Amland, Megan	Legal Project Analyst	6/12/2023	3.50	
Rios, Sophia	Shareholder	6/12/2023	0.90	
Amland, Megan	Legal Project Analyst	6/13/2023	1.00	
Amland, Megan	Legal Project Analyst	6/13/2023	4.00	
Amland, Megan	Legal Project Analyst	6/14/2023	1.00	1
Amland, Megan	Legal Project Analyst	6/14/2023	5.00	
Amland, Megan	Legal Project Analyst	6/15/2023	1.00	
Amland, Megan	Legal Project Analyst	6/15/2023	1.00	
Amland, Megan	Legal Project Analyst	6/15/2023	3.50	
Amland, Megan	Legal Project Analyst	6/16/2023	1.00	
Amland, Megan	Legal Project Analyst	6/16/2023	1.00	
Amland, Megan	Legal Project Analyst	6/16/2023	3.50	340.00 1,190.00 Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	6/20/2023	1.00	340.00 340.00 Responding to putative class members' emails.
Amland, Megan	Legal Project Analyst	6/20/2023	4.00	340.00 1,360.00 Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	6/21/2023	2.00	340.00 680.00 Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	6/22/2023	0.50	340.00 170.00 Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	6/22/2023	2.00	340.00 680.00 Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	6/23/2023	0.50	340.00 170.00 Responding to putative class members' emails.
Amland, Megan	Legal Project Analyst	6/26/2023	0.50	340.00 170.00 Responding to putative class members' emails.
Amland, Megan	Legal Project Analyst	6/26/2023	1.00	340.00 Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	6/26/2023	1.00	
Amland, Megan	Legal Project Analyst	6/27/2023	0.50	· ·
	, ,			Draft complaint and circulate to internal team; review emails with co-counsel regarding
DeSanto, Mark	Shareholder	6/28/2023	6.10	
Rios, Sophia	Shareholder	6/28/2023	0.30	820.00 246.00 Draft complaint
Amland, Megan	Legal Project Analyst	6/30/2023	0.50	340.00 170.00 Sending declination emails to putative class members
Hibray, Jean	Paralegal	7/5/2023	0.30	
Amland, Megan	Legal Project Analyst	7/6/2023	1.00	
Amland, Megan	Legal Project Analyst	7/7/2023	1.00	
Amland, Megan	Legal Project Analyst	7/7/2023	2.00	
Amland, Megan	Legal Project Analyst	7/10/2023	0.50	
Amland, Megan	Legal Project Analyst	7/10/2023	3.00	· ·
Amland, Megan	Legal Project Analyst	7/11/2023	0.50	
Amland, Megan	Legal Project Analyst	7/18/2023	1.50	
Amland, Megan	Legal Project Analyst	7/19/2023	1.00	
Amland, Megan	Legal Project Analyst	7/20/2023	0.50	
Amland, Megan	Legal Project Analyst	7/21/2023	0.50	
Amland, Megan	Legal Project Analyst	7/21/2023	1.00	
Amland, Megan	Legal Project Analyst	7/25/2023	1.00	
Amland, Megan	Legal Project Analyst	7/27/2023	2.00	
Amland, Megan	Legal Project Analyst	7/28/2023	2.00	
Amland, Megan	Legal Project Analyst	8/1/2023	0.50	
Amland, Megan	Legal Project Analyst	8/1/2023	1.50	·
Amland, Megan	Legal Project Analyst	8/2/2023	1.00	
Amanu, Megan	Legal Fluject Allalyst	0/2/2023	1.00	1 340.00 340.00 INIANITY PULATIVE Class THETHIDEL CALLS, VOICETHAILS AND TOLLOW UP ETIGITS.

Amland, Megan	Legal Project Analyst	8/3/2023	2.00	340.00		Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	8/4/2023	4.00	340.00		Making putative class member calls, voicemails and follow up emails.
	Legal Project Analyst	8/7/2023	1.50	340.00		Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	8/8/2023	0.50	340.00		Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	8/8/2023	3.00	340.00	1,020.00	Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	8/9/2023	2.00	340.00	680.00	Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	8/10/2023	3.00	340.00	1,020.00	Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	8/11/2023	2.00	340.00	680.00	Sending declination emails to putative class members
Amland, Megan	Legal Project Analyst	8/11/2023	2.50	340.00		Making putative class member calls, voicemails and follow up emails.
Plasko, Olivia Grace	Legal Project Analyst	8/14/2023	0.50	340.00	170.00	Met with Megan Amland about
	·					Started making calls Sent out follow-up emails and text
Plasko, Olivia Grace	Legal Project Analyst	8/14/2023	3.00	340.00	1,020.00	messages.
	Legal Project Analyst	8/15/2023	3.50	340.00		Made calls to putative class members
	Legal Project Analyst	8/16/2023	3.00	340.00		Made calls to putative class members
-	Legal Project Analyst	8/18/2023	4.00	340.00		Made calls, sent emails to putative class members, and decline emials
Amland, Megan	Legal Project Analyst	8/21/2023	1.50	340.00		Making putative class member calls, voicemails and follow up emails.
	Legal Project Analyst	8/22/2023	2.00	340.00		Making putative class member calls, voicemails and follow up emails.
	Legal Project Analyst	8/23/2023	2.00	340.00		Making putative class member calls, voicemails and follow up emails.
	Legal Project Analyst	8/24/2023	2.00	340.00		Making putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	8/28/2023	0.50	340.00		Sending declination emails to putative class members
	Legal Project Analyst	8/28/2023	0.50	340.00		Making calls, voicemails and emails.
Rios, Sophia	Shareholder	8/28/2023	1.00	820.00		Review and revise draft complaint
Amland, Megan	Legal Project Analyst	8/30/2023	1.50	340.00		Making calls, voicemails and emails.
Amland, Megan	Legal Project Analyst	8/30/2023	2.00	340.00		Making 2nd attempt putative class member calls, voicemails and follow up emails.
7 tillaria, Megari	Legar roject / triaryst	0/00/2020	2.00	040.00	000.00	Triaking 2114 ditempt patient o older member dane, velocitiane and follow up officine.
Amland, Megan	Legal Project Analyst	8/31/2023	4.00	340.00	1 360 00	Making 2nd & 3rd attempt putative class member calls, voicemails and follow up emails.
	Executive Shareholder	8/31/2023	1.30	1,180.00		review redline and revise complaint
	Executive Shareholder	8/31/2023	0.10	1,180.00		meet with team re next steps
	Legal Project Analyst	9/1/2023	0.50	340.00		Responding to putative class members' emails and texts.
	Executive Shareholder	9/1/2023	0.80	1,180.00		emails re
Rios, Sophia	Shareholder	9/1/2023	0.40	820.00		Review and revise draft complaint; contact
Amland, Megan	Legal Project Analyst	9/5/2023	2.00	340.00		Making 2nd attempt putative class member calls, voicemails and follow up emails.
Amianu, Megan	Legal Floject Allalyst	9/3/2023	2.00	340.00	000.00	Research ; draft email to EMD and Sophia
DoSanta Mark	Shareholder	9/5/2023	0.80	855.00	694.00	regarding
DeSanto, Mark Rios, Sophia	Shareholder	9/5/2023	0.80	820.00		Review and revise draft complaint; email
				340.00		Making 2nd attempt putative class member calls, voicemails and follow up emails.
Amland, Megan	Legal Project Analyst	9/6/2023	2.50 0.50	340.00		
Amland, Megan	Legal Project Analyst	9/6/2023				Saving putative class members' documents to i
Amland, Megan	Legal Project Analyst	9/6/2023	1.00	340.00 820.00		Responding to putative class members' emails and texts.
Rios, Sophia	Shareholder	9/6/2023	0.50			Discuss plaintiff
Amland, Megan	Legal Project Analyst	9/7/2023	2.50	340.00		Making 2nd attempt putative class member calls, voicemails and follow up emails.
	Legal Project Analyst	9/8/2023	2.00	340.00		Making 2nd attempt putative class member calls, voicemails and follow up emails.
Rios, Sophia	Shareholder	9/8/2023	0.40	820.00		Send complaint to co-counsel
	Legal Project Analyst	9/11/2023	0.50	340.00		Sending declination emails to putative class members
	Legal Project Analyst	9/11/2023	0.50	340.00		Responding to putative class members' emails and texts.
Amland, Megan	Legal Project Analyst	9/11/2023	3.00	340.00	1,020.00	Making 2nd attempt putative class member calls, voicemails and follow up emails.

Amland, Megan	Legal Project Analyst	9/12/2023	1.50		
Amland, Megan	Legal Project Analyst	9/12/2023	0.50		
Amland, Megan	Legal Project Analyst	9/13/2023	0.50	340.00	170.00 Responding to putative class members' emails and texts.
Amland, Megan	Legal Project Analyst	9/14/2023	2.00	340.00	
Hibray, Jean	Paralegal	9/14/2023	0.40	500.00	200.00 Emails re transfer of same
Amland, Megan	Legal Project Analyst	9/15/2023	2.50		
Amland, Megan	Legal Project Analyst	9/15/2023	0.50	340.00	
Amland, Megan	Legal Project Analyst	9/15/2023	0.50	340.00	170.00 Responding to putative class members' emails and texts.
Rios, Sophia	Shareholder	9/18/2023	0.10	820.00	
Amland, Megan	Legal Project Analyst	10/5/2023	0.50	340.00	170.00 Making putative class member calls, voicemails and follow up emails.
Drake, E. Michelle	Executive Shareholder	10/5/2023	0.10	1,180.00	118.00 team meeting to discuss case status
Hibray, Jean	Paralegal	12/5/2023	0.20	500.00	100.00 Review proof of service, docket response deadlines
Drake, E. Michelle	Executive Shareholder	12/14/2023	0.10	1,180.00	
Amland, Megan	Legal Project Analyst	12/18/2023	0.50	340.00	170.00 Responding to putative class members' emails and texts.
Amland, Megan	Legal Project Analyst	12/18/2023	1.00	340.00	
Amland, Megan	Legal Project Analyst	12/19/2023	0.50	340.00	170.00 Responding to putative class members' emails and texts.
Amland, Megan	Legal Project Analyst	12/20/2023	0.50	340.00	170.00 Making putative class member calls, voicemails and follow up emails.
Rios, Sophia	Shareholder	12/21/2023	0.30	820.00	
Hibray, Jean	Paralegal	12/22/2023	0.30	500.00	
J.					Review draft stipulation to extend time to respond to complaint; confer with OC; review
Rios, Sophia	Shareholder	12/22/2023	0.40	820.00	
Hibray, Jean	Paralegal	12/26/2023	0.40	500.00	200.00 Update pro hacs, emails with co counsel re filing of same
Gionnette, Julie	Legal Assistant	12/27/2023	0.10	305.00	7
Hibray, Jean	Paralegal	12/27/2023	0.40	500.00	200.00 Review notice from court re pro hac, call with clerk re same to resolve
Gionnette, Julie	Legal Assistant	1/2/2024	0.20		
Gionnette, Julie	Legal Assistant	1/26/2024	0.10	305.00	
Drake, E. Michelle	Executive Shareholder	1/30/2024	0.10		
Gionnette, Julie	Legal Assistant	1/30/2024	0.20	305.00	
Rios, Sophia	Shareholder	2/1/2024	0.90	820.00	· · · · · · · · · · · · · · · · · · ·
Rios, Sophia	Shareholder	2/13/2024	0.20	820.00	
Rios, Sophia	Shareholder	2/15/2024	7.10	820.00	5,822.00 Draft opposition to motion to dismiss.
Rios, Sophia	Shareholder	2/16/2024	3.70		3,034.00 Draft opposition to motion to dismiss.
Rios, Sophia	Shareholder	2/19/2024	2.80		2,296.00 Draft opposition to motion to dismiss.
, 1					
Drake, E. Michelle	Executive Shareholder	2/22/2024	4.50	1,180.00	5,310.00 review defendant motion to dismiss; review redline and revise Plaintiff brief in opposition
Rios, Sophia	Shareholder	2/22/2024	0.50		
Drake, E. Michelle	Executive Shareholder	2/23/2024		1,180.00	
Rios, Sophia	Shareholder	2/23/2024	0.20		
Rios, Sophia	Shareholder	2/26/2024	1.60		
Rios, Sophia	Shareholder	2/27/2024	1.20		
Hibray, Jean	Paralegal	2/29/2024	0.20	500.00	
Rios, Sophia	Shareholder	2/29/2024	1.30	820.00	
Gionnette, Julie	Legal Assistant	3/1/2024	0.30		· · · · · · · · · · · · · · · · · · ·
Ciciniotto, vano	Logal / toolotal it	0/ 1/2027	0.00	000.00	o not area departed protocivo order

Rios, Sophia	Shareholder	3/1/2024	0.90	820.00		Draft stipulated protective order
Rios, Sophia	Shareholder	3/4/2024	0.20	820.00		Review and revise initial disclsoures
Hibray, Jean	Paralegal	3/5/2024	0.30	500.00		Finalize and e-serve initial disclosures
Rios, Sophia	Shareholder	3/6/2024	1.90	820.00		review and revise draft discovery requests
Gionnette, Julie	Legal Assistant	3/8/2024	0.10	305.00		review docket entry (ECF 16)
Rios, Sophia	Shareholder	3/8/2024	1.50	820.00		review and revise draft joint discovery statement; discuss same with co-counsel
Rios, Sophia	Shareholder	3/9/2024	0.70	820.00		review and revise draft joint discovery statement; run redline to provide to OC
Rios, Sophia	Shareholder	3/11/2024	0.60	820.00		Review served discovery; review draft JSR provided to OC
Gionnette, Julie	Legal Assistant	3/12/2024	0.10	305.00		review docket entry (ECF 17)
Rios, Sophia	Shareholder	3/12/2024	0.20	820.00		Review defendant edits to joint discovery statement
Gionnette, Julie	Legal Assistant	3/19/2024	0.40	305.00		draft notice of change of address for San Diego office; finalize and file in WD Wash
Rios, Sophia	Shareholder	3/21/2024	0.20	820.00		Discuss with JM
Rios, Sophia	Shareholder	3/22/2024	0.20	820.00		Review
Rios, Sophia	Shareholder	3/25/2024	0.80	820.00		Meet and confer with opposing counsel re stay of discovery
Rios, Sophia	Shareholder	3/26/2024	0.80	820.00		review response from OC re proposed initial discovery
Gionnette, Julie	Legal Assistant	4/1/2024	0.10	305.00		review docket entry and calendar scheduling conference
Drake, E. Michelle	Executive Shareholder	4/3/2024	0.10	1,180.00		team call to touch base on next steps in litigation
Rios, Sophia	Shareholder	4/3/2024	0.40	820.00		Review and revise draft PO
Gionnette, Julie	Legal Assistant	4/4/2024	0.10	305.00		review email from defense counsel; update calendar deadline for discovery responses
Rios, Sophia	Shareholder	4/5/2024	0.20	820.00		Discuss with ZV
Drake, E. Michelle	Executive Shareholder	4/15/2024	0.30	1,180.00	354.00	
Rios, Sophia	Shareholder	4/15/2024	1.00	820.00		Call w/ J. Murrary; prepare for scheduling conference
Rios, Sophia	Shareholder	4/16/2024	0.20	820.00	164.00	Draft and send email
						appear at scheduling conference; discuss with J. Murray; send to litigation
Rios, Sophia	Shareholder	4/16/2024	2.20	820.00	1,804.00	
Gionnette, Julie	Legal Assistant	4/17/2024	0.10	305.00		review docket order (ECF 22); calendar deadline
Rios, Sophia	Shareholder	4/18/2024	0.40	820.00		Call with J. Murray re
Drake, E. Michelle	Executive Shareholder	4/19/2024	0.40	1,180.00		call with S Rios re
Rios, Sophia	Shareholder	4/19/2024	0.20	820.00	164.00	Call with EMD re
						Spoke w/Sophia re. ; researched
Raths, Katherine	Associate	4/22/2024	0.90	625.00	562.50	
Rios, Sophia	Shareholder	4/22/2024	0.60	820.00	492.00	
Rios, Sophia	Shareholder	4/22/2024	1.20	820.00	984.00	Call with J. Murray and Michelle Drake; review
						Researched ; spoke
Raths, Katherine	Associate	4/23/2024	2.20	625.00		w/Sophia re.
Raths, Katherine	Associate	4/23/2024	4.80	625.00		Researched ; revised
Rios, Sophia	Shareholder	4/23/2024	3.20	820.00	2,624.00	review ; draft letter to opposing counsel
Raths, Katherine	Associate	4/24/2024	2.60	625.00		Researched , and drafted email for Sophia.
Rios, Sophia	Shareholder	4/24/2024	1.20	820.00		Call with J. Murray; draft supp JSR
Rios, Sophia	Shareholder	4/25/2024	2.40	820.00		meet and confer with opposing counsel re supp JSR; draft supp JSR
Rios, Sophia	Shareholder	4/26/2024	1.00	820.00		Call with J. Murray; draft supp JSR
Rios, Sophia	Shareholder	4/29/2024	0.20	820.00		review email from defense counsel
Rios, Sophia	Shareholder	4/30/2024	3.00	820.00	2,460.00	Call with J. Murray; draft supp JSR
Gionnette, Julie	Legal Assistant	5/1/2024	0.10	305.00	30.50	download and review status report (ECF 23)

Gionnette, Julie	Legal Assistant	5/2/2024	0.20	305.00	61.00	download and review order dismissing MTD (ECF
Rios, Sophia	Shareholder	5/2/2024	0.20	820.00		review orde
, ,						
Gionnette, Julie	Legal Assistant	5/8/2024	0.10	305.00		review defendants responses to Irogs and RFPs and save to
Hibray, Jean	Paralegal	5/9/2024	0.10	500.00		Emails re
Rios, Sophia	Shareholder	5/9/2024	0.40	820.00		review D's discovery responses
Hibray, Jean	Paralegal	5/10/2024	0.40	500.00		Review def prod, set up new DB, load to
Rios, Sophia	Shareholder	5/10/2024	3.40	820.00		review D's discovery responses; draft
Rios, Sophia	Shareholder	5/13/2024	2.20	820.00	1,804.00	review D's discovery responses; draft letter responding
Gionnette, Julie	Legal Assistant	5/16/2024	0.50	305.00		create
Hibray, Jean	Paralegal	5/16/2024	0.10	500.00		Review email re , respond to internal team re same
Rios, Sophia	Shareholder	5/16/2024	0.40	820.00		Schedule meet and confer with OC; review clawback notice
Hibray, Jean	Paralegal	5/17/2024	0.60	500.00		Sequester disputed docs, review and load overlay, email team
Rios, Sophia	Shareholder	5/17/2024	1.40	820.00		meet and confer with OC; call with co-counsel
Drake, E. Michelle	Executive Shareholder	5/29/2024	0.10	1,180.00		meet with case team re schedule and next steps in litigation
Gionnette, Julie	Legal Assistant	5/29/2024	0.20	305.00	61.00	review and save first set of Irogs and RFPs; calendar deadline
Rios, Sophia	Shareholder	5/29/2024	0.10	820.00		call with co-counsel
Rios, Sophia	Shareholder	6/3/2024	0.50	820.00		analyze letter from Def re Def's discovery responses
Gionnette, Julie	Legal Assistant	6/5/2024	0.30	305.00		draft notice of change of address for SD office; finalize and file same in WD Wash
Hibray, Jean	Paralegal	6/5/2024	0.10	500.00	50.00	Email with co-counsel re
Hibray, Jean	Paralegal	6/5/2024	0.30	500.00	150.00	Emails re overlays, review same and load;
Hibray, Jean	Paralegal	6/5/2024	0.20	500.00	100.00	Review new def prod, load to
Rios, Sophia	Shareholder	6/5/2024	2.60	820.00	2,132.00	analyze letter from Def re Def's discovery responses; email to co-counsel
Rios, Sophia	Shareholder	6/7/2024	2.60	820.00	2,132.00	draft plaintiff discovery responses;
Rios, Sophia	Shareholder	6/10/2024	0.20	820.00		Discuss with co-counsel
Gebo, Rachel	Legal Project Team Manager	6/11/2024	0.80	460.00		Review Confirm
Rios, Sophia	Shareholder	6/11/2024	2.70	820.00		draft responses to discovery requests
Rios, Sophia	Shareholder	6/12/2024	5.30	820.00	4,346.00	draft letter to Def re Def's discovery responses
Rios, Sophia	Shareholder	6/12/2024	1.20	820.00	984.00	draft responses to discovery requests
Hibray, Jean	Paralegal	6/14/2024	0.20	500.00	100.00	Proof, finalize and send letter to opposing
Hibray, Jean	Paralegal	6/14/2024	0.30	500.00		Review and finalize discovery requests; e-serve & docket response
Rios, Sophia	Shareholder	6/14/2024	0.20	820.00	164.00	Finalize and send letter to Def re Def's discovery responses
Dang, Michelle	Legal Project Analyst	6/24/2024	0.50	340.00	170.00	Initial Updated files accordingly.
-						
Hibray, Jean	Paralegal	6/24/2024	0.50	500.00		Review files , research email re same.
Rios, Sophia	Shareholder	6/24/2024	1.30	820.00	1,066.00	Draft discovery responses; call with co-counsel
Drake, E. Michelle	Executive Shareholder	6/25/2024	0.10	1,180.00	118.00	meet with case team re
Gionnette, Julie	Legal Assistant	6/25/2024	0.10	305.00		update calendar deadline for discovery response per email agreement
Hibray, Jean	Paralegal	6/25/2024	0.30	500.00		Review new def prod, load to
Hibray, Jean	Paralegal	6/25/2024	1.00	500.00		Emails with co counsel,
,						
Hibray, Jean	Paralegal	6/25/2024	0.70	500.00	350.00	Review , email with S Rios re same; to co counsel
Rios, Sophia	Shareholder	6/25/2024	1.60	820.00		Draft discovery responses
Rios, Sophia	Shareholder	6/25/2024	1.00	820.00		prepare documents for production

0 1 0 1 1		0/00/0004	0.50	400.00	000.00	
Gebo, Rachel	Legal Project Team Manager	6/26/2024	0.50	460.00	230.00	
Rios, Sophia	Shareholder	6/26/2024	0.10	820.00		communicate with client
Hibray, Jean	Paralegal	6/27/2024	0.20	500.00		Review load to email re same
Rios, Sophia	Shareholder	6/27/2024	0.20	820.00		communicate with client
Dang, Michelle	Legal Project Analyst	6/28/2024	0.10	340.00	34.00	Scheduled call
Dang, Michelle	Legal Project Analyst	7/1/2024	0.10	340.00	34.00	Scheduled call updated files accordingly.
Rios, Sophia	Shareholder	7/2/2024	1.70	820.00	1,394.00	review letter from opposing counsel re plaintiff's discovery requests; call with co-counsel
Rios, Sophia	Shareholder	7/8/2024	0.10	820.00		Coordinate
Rios, Sophia	Shareholder	7/8/2024	0.30	820.00		follow up on
Dang, Michelle	Legal Project Analyst	7/9/2024	1.20	340.00	408.00	
Rios, Sophia	Shareholder	7/9/2024	0.50	820.00		revise discovery responses
Rios, Sophia	Shareholder	7/9/2024	0.50	820.00	410.00	prepare production of documents
Dang, Michelle	Legal Project Analyst	7/10/2024	1.00	340.00	340.00	Initial
Hibray, Jean	Paralegal	7/10/2024	0.20	500.00		Transfer client docs to
Rios, Sophia	Shareholder	7/10/2024	1.00	820.00	820.00	meet and confer re plaintiff's discovery requests; call with co-counsel
Rios, Sophia	Shareholder	7/10/2024	1.20	820.00	984.00	revise discovery responses; call with co-counsel; coordinate
Dang, Michelle	Legal Project Analyst	7/11/2024	1.00	340.00	340.00	
Rios, Sophia	Shareholder	7/11/2024	0.80	820.00		revise discovery
, '						Initial updated lead files accordingly.
Dang, Michelle	Legal Project Analyst	7/12/2024	1.80	340.00	612.00	Generated for S.Rios.
Hibray, Jean	Paralegal	7/12/2024	0.20	500.00		Finalize and e-serve plaintiff discovery responses/productions
Hibray, Jean	Paralegal	7/12/2024	0.80	500.00		Prepare and run productions (2), email with S Rios re review of same
Hibray, Jean	Paralegal	7/12/2024	0.20	500.00		Finalize and send DocuSign ollow up emails re same
Hibray, Jean	Paralegal	7/12/2024	0.20	500.00		Emails with S Rios re plaintiff responses
Rios, Sophia	Shareholder	7/12/2024	0.90	820.00		follow up
rtioo, copriid	Charcholder	1712/2021	0.00	020.00	700.00	finalize discovery responses; coordinate ; finalize production of
Rios, Sophia	Shareholder	7/12/2024	1.60	820.00	1 312 00	documents
rtios, coprila	Charcholder	1112/2024	1.00	020.00	1,012.00	dodunionis
Dang, Michelle	Legal Project Analyst	7/15/2024	2.00	340.00	680.00	Initial updated lead files accordingly.
Dang, Michelle	Legal Project Analyst	7/16/2024	2.00	340.00	680.00	Initial updated lead files accordingly.
Dang, Michelle	Legal Project Analyst	7/17/2024	1.40	340.00	476.00	
Rios, Sophia	Shareholder	7/17/2024	0.70	820.00	574.00	analyze plaintiff's discovery requests
Dang, Michelle	Legal Project Analyst	7/18/2024	0.30	340.00	102.00	Initial updated lead files accordingly.
J.	, ,					analyze remaining Plaintiff's discovery requests; draft and send email to co-counsel
Rios, Sophia	Shareholder	7/18/2024	2.30	820.00	1.886.00	
Drake, E. Michelle	Executive Shareholder	7/19/2024	0.30	1,180.00	,	correspondence with S Rios and cocounsel re
,			2.00	,	2230	analyze draft and send email to opposing counsel re
Rios, Sophia	Shareholder	7/19/2024	1.00	820.00	820.00	plaintiff's discovery requests and stipulations
Dang, Michelle	Legal Project Analyst	7/22/2024	0.10	340.00		Initial emails.
Rios, Sophia	Shareholder	7/23/2024	0.30	820.00		follow up on
rios, sopnia	Shareholder	1123/2024	0.30	8∠0.00	∠46.00	rollow up on

Rios, Sophia	Shareholder	7/23/2024	0.50	820.00	410.00 draft and send email to defense counsel
Dang, Michelle	Legal Project Analyst	7/29/2024	1.00	340.00	
Rios, Sophia	Shareholder				· · · · · · · · · · · · · · · · · · ·
Dang, Michelle	Legal Project Analyst	7/29/2024 7/30/2024	0.40 2.20	820.00 340.00	
Rios, Sophia	Shareholder	7/30/2024	0.20	820.00	· · · · · · · · · · · · · · · · · · ·
Dang, Michelle	Legal Project Analyst	7/31/2024	1.20	340.00	
Rios, Sophia	Shareholder	7/31/2024	0.70	820.00	
Danas Miahalla	Lawal Drainet Analyst	0/4/0004	2.00	240.00	updated
Dang, Michelle	Legal Project Analyst	8/1/2024	2.80	340.00	
Rios, Sophia	Shareholder	8/1/2024	0.20	820.00	
Dang, Michelle	Legal Project Analyst	8/2/2024	3.00	340.00	updated 1,020.00 files accordingly.
Hibray, Jean	Paralegal	8/2/2024	0.30	500.00	
Rios, Sophia	Shareholder	8/2/2024	0.80	820.00	
Rios, Sophia	Shareholder	8/2/2024	2.10	820.00	
Dang, Michelle	Legal Project Analyst	8/5/2024	2.10	340.00	
Hibray, Jean	Paralegal	8/5/2024	0.20	500.00	
Hibray, Jean	Paralegal	8/5/2024	0.20	500.00	
Hibray, Jean	•	8/5/2024	1.00	500.00	
	Paralegal	8/5/2024	0.20	500.00	
Hibray, Jean	Paralegal	8/5/2024	3.60	820.00	
Rios, Sophia	Shareholder		2.00		
Dang, Michelle Drake, E. Michelle	Legal Project Analyst Executive Shareholder	8/6/2024 8/6/2024		340.00 1.180.00	
	Shareholder		0.80	,	
Rios, Sophia		8/6/2024 8/7/2024	1.20 0.80	820.00 340.00	
Dang, Michelle	Legal Project Analyst	8/7/2024			
Hibray, Jean	Paralegal		0.20	500.00	
Hibray, Jean	Paralegal	8/7/2024	0.30	500.00	150.00 Review information re: prepare ; review subpoenas from Defendant; call with co-counsel; research
Dias Cambia	Charabaldan	0/7/0004	2.50	000.00	
Rios, Sophia	Shareholder	8/7/2024	2.50	620.00	2,050.00
Dang, Michelle	Legal Project Analyst	8/8/2024	0.70	340.00	238.00 Initial updated files accordingly.
Rios, Sophia	Shareholder	8/8/2024	1.20	820.00	
Hibray, Jean	Paralegal	8/9/2024	0.10	500.00	1 0
Hibray, Jean	Paralegal	8/9/2024	0.10	500.00	
Rios, Sophia	Shareholder	8/9/2024	3.60		2,952.00 coordinate service of priv log; prepare for discovery hearing
Dang, Michelle	Legal Project Analyst	8/12/2024	2.10	340.00	
Gionnette, Julie	Legal Assistant	8/12/2024	0.20	305.00	1 0,
Gionnette, Julie	Legal Assistant	8/12/2024	0.20	305.00	
Cionnette, Julie	Logal Assistant	0/12/2024	0.10	303.00	50.50 Teview text order sofieduling discovery fleating, calcilidar sainte
Rios, Sophia	Shareholder	8/12/2024	3.00	820.00	2,460.00 respond to email from OC; prepare for and appear at discovery hearing; call with co-counsel
Dang, Michelle	Legal Project Analyst	8/13/2024	2.00	340.00	
Gionnette, Julie	Legal Assistant	8/13/2024	0.10	305.00	30.50 review defs suppl answers to 2nd irogs; save same to
Rios, Sophia	Shareholder	8/13/2024	2.70	820.00	2,214.00 draft proposed factual stipulations; review letter from OC re Plaintiff's discovery responses

Dang, Michelle	Legal Project Analyst	8/14/2024	1.50	340.00	510.00	Left voicemails.
Rios, Sophia	Shareholder	8/14/2024	1.60	820.00	1,312.00	Evaluate proposed search terms; draft email OC re meet and confer
Hibray, Jean	Paralegal	8/16/2024	0.10	500.00		Email with opposing counsel re ftp
,						meet and confer with OC re search terms; review proposed edits to factual stipulation; draft
Rios, Sophia	Shareholder	8/16/2024	1.60	820.00	1,312.00	collection plan
, ,						call with co-counsel; prepare amended privilege log;
Rios, Sophia	Shareholder	8/19/2024	4.00	820.00	3,280.00	discovery responses; correspond with Def re plaintiff's depo
Hibray, Jean	Paralegal	8/20/2024	0.10	500.00	50.00	Docket new subpoenas
<u> </u>						correspond with Def re plaintiff's depo; draft supplemental discovery responses; negotiate
Rios, Sophia	Shareholder	8/20/2024	4.30	820.00	3,526.00	fact stipulation with def; prepare production of documents
Hibray, Jean	Paralegal	8/21/2024	0.10	500.00	50.00	Draft joint status report
-						Load new docs for production review; prepare email S
Hibray, Jean	Paralegal	8/21/2024	0.50	500.00	250.00	Rios re same
						review and revise draft motion for protective order re location of plaintiff's depo; meet and
Rios, Sophia	Shareholder	8/21/2024	0.90	820.00		confer with def counsel re depo
Rios, Sophia	Shareholder	8/21/2024	2.60	820.00		draft supplemental discovery responses and prepare production
Hibray, Jean	Paralegal	8/22/2024	0.30	500.00		Review new def prod, load to
Hibray, Jean	Paralegal	8/22/2024	0.10	500.00		Add new doc to for production review
Hibray, Jean	Paralegal	8/22/2024	0.10	500.00	50.00	Prepare and send
						draft supplemental discovery responses; prepare production of documents; review and
Rios, Sophia	Shareholder	8/22/2024	2.30	820.00		revise letter to def re plaintiff's discovery responses
Hibray, Jean	Paralegal	8/23/2024	0.30	500.00		Finalize amended priv log, production; eserve same.
Hibray, Jean	Paralegal	8/23/2024	0.40	500.00	200.00	Prepare client production, QC same.
						draft joint status update for court and send to OC; review final letter re p's discovery
Rios, Sophia	Shareholder	8/23/2024	0.50	820.00		responses
Hibray, Jean	Paralegal	8/26/2024	0.20	500.00		Finalize and file status report
Hibray, Jean	Paralegal	8/26/2024	0.10	500.00		Finalize and e serve signed responses
Rios, Sophia	Shareholder	8/26/2024	1.80	820.00		prepare for plaintiff's deposition
Rios, Sophia	Shareholder	8/27/2024	1.10	820.00		email with OC re location of plaintiff's depo; call with co-counsel re
Rios, Sophia	Shareholder	8/28/2024	2.70	820.00	2,214.00	attend third party deposition; call with co-counsel; prepare for plaintiff's depo
Rios, Sophia	Shareholder	8/29/2024	2.20	820.00	1,804.00	call with co-counsel; prepare for plaintiff's deposition; schedule travel to appear at depo
						Returned VM of updated lead file
Dang, Michelle	Legal Project Analyst	8/30/2024	0.30	340.00		accordingly.
Rios, Sophia	Shareholder	8/30/2024	2.40	820.00		call with client; call with co-counsel; schedule travel
Dang, Michelle	Legal Project Analyst	9/3/2024	0.10	340.00		Call w/ updated file accordingly.
Hibray, Jean	Paralegal	9/3/2024	0.80	500.00		Prepare Prepare FedEx, travel to/from drop off of same
Rios, Sophia	Shareholder	9/3/2024	1.70	820.00		review and analyze search terms proposed by defendant; draft new terms
Dang, Michelle	Legal Project Analyst	9/4/2024	0.10	340.00		Followed up w/
Hibray, Jean	Paralegal	9/4/2024	0.20	500.00	100.00	Review new prod, load to
						meet with client ; arrange deposition logistics with co-counsel; email with
Rios, Sophia	Shareholder	9/4/2024	2.50	820.00		OC re defendant search terms
Hibray, Jean	Paralegal	9/5/2024	0.20	500.00		Review new def prod, load same to
Hibray, Jean	Paralegal	9/5/2024	0.10	500.00		Review email re clawback, email attorneys
Rios, Sophia	Shareholder	9/5/2024	0.60	820.00	492.00	coordinate with co-counsel for client deposition;

Rios, Sophia	Shareholder	9/5/2024	7.90	820.00	6 478 00	Fly to Washington, rent car, drive to Port Angeles for client deposition
Drake, E. Michelle	Executive Shareholder	9/6/2024	0.30	1,180.00		call with S Rios re plaintiff deposition
Diano, E. Michelle	ZAGGGIVE GHAIGHOIGE	3/0/2024	0.00	1, 100.00	557.00	calls with client and co-counsel re
Rios, Sophia	Shareholder	9/6/2024	1.40	820.00	1.148.00	postponement and rescheduling of deposition
Rios, Sophia	Shareholder	9/6/2024	3.50			drive to Seattle from Port Angeles
Gionnette, Julie	Legal Assistant	9/9/2024	0.10	305.00		review second amended depo notice of client; update calendar deadline
Rios, Sophia	Shareholder	9/9/2024	1.50	820.00		calls and email with co counsel, client, and OC re
Hibray, Jean	Paralegal	9/10/2024	0.20	500.00		Review new 3d party prod, load to
Drake, E. Michelle	Executive Shareholder	9/11/2024	0.10	1,180.00		meet with team re next steps
Rios, Sophia	Shareholder	9/11/2024	0.50	820.00		calls and email with co counsel, client, and OC re
Hibray, Jean	Paralegal	9/12/2024	0.30	500.00		Review and load def overlay
, , , , , , , , , , , , , , , , , , ,						,
Gionnette, Julie	Legal Assistant	9/16/2024	0.20	305.00		download and review order extending deadlines (ECF 35); update calendar accordingly
Rios, Sophia	Shareholder	9/16/2024	0.30	820.00		Communcations w/ client
Hibray, Jean	Paralegal	9/17/2024	0.20	500.00		Review new third party prod, load to
Rios, Sophia	Shareholder	9/17/2024	0.90	820.00		Communcations w/ client; call with co-counsel
Rios, Sophia	Shareholder	9/18/2024	2.50	820.00		calls with cocounsel;
Hibray, Jean	Paralegal	9/19/2024	0.40	500.00		Review new def prod and load to
Rios, Sophia	Shareholder	9/19/2024	0.40	820.00	328.00	review documents produced by defendant
Rios, Sophia	Shareholder	9/19/2024	2.70	820.00		attend deposition of plaintiff
Rios, Sophia	Shareholder	9/26/2024	0.60	820.00		call with co-counsel
Hibray, Jean	Paralegal	9/27/2024	0.40	500.00		Review file re
Rios, Sophia	Shareholder	9/27/2024	0.30	820.00	246.00	
Hibray, Jean	Paralegal	9/30/2024	0.20	500.00	100.00	Emails re prepare and send DocuSign re same
Hibray, Jean	Paralegal	10/1/2024	0.40	500.00	200.00	Load letter to , run production, e-serve same
Hibray, Jean	Paralegal	10/1/2024	0.10	500.00	50.00	Emails re
Rios, Sophia	Shareholder	10/1/2024	0.20	820.00		coordinate and production of document
Gionnette, Julie	Legal Assistant	10/2/2024	0.20	305.00	61.00	review docket orders (ECF 38-39); calendar deadlines to dispositive motions
Rios, Sophia	Shareholder	10/2/2024	0.20	820.00		email to set up call and attach
Rios, Sophia	Shareholder	10/7/2024	0.40	820.00		set up call with
Hibray, Jean	Paralegal	10/8/2024	0.10	500.00		Prepare email re same
Hibray, Jean	Paralegal	10/10/2024	0.20	500.00		Emails with S Rios re , prepare same for review
Rios, Sophia	Shareholder	10/10/2024	0.20	820.00	164.00	
Hibray, Jean	Paralegal	10/11/2024	0.10	500.00	50.00	Email with S Rios re
						send
Rios, Sophia	Shareholder	10/11/2024	1.40	820.00	1,148.00	
						Email with S Rios re re-productions; prepare re-productions in
Hibray, Jean	Paralegal	10/21/2024	0.90	500.00	450.00	on same, finalize and eserve.
						review designated documents provided by defense counsel to identify information that
Rios, Sophia	Shareholder	10/21/2024	1.00	820.00		needs to be redacted with MSJ filing; reproduce document without designations.
Rios, Sophia	Shareholder	10/24/2024	1.10	820.00		review and analyze D's MSJ
Rios, Sophia	Shareholder	10/28/2024	2.10	820.00		review and analyze D's MSJ; draft response
Hibray, Jean	Paralegal	10/29/2024	0.50	500.00		Docket plaintiff transcript files in , and email with S Rios re same
Rios, Sophia	Shareholder	10/29/2024	0.90	820.00		draft opposition to D's MSJ
Hibray, Jean	Paralegal	10/30/2024	0.40	500.00	200.00	Review Cook transcript files, load to . Email re same.

- · · ·	12	10/00/000/				
Rios, Sophia	Shareholder	10/30/2024	5.40			draft opposition to D's MSJ
Dang, Michelle	Legal Project Analyst	10/31/2024	0.10	340.00		Sent
Rios, Sophia	Shareholder	10/31/2024	3.10	820.00		draft opposition to D's MSJ
Drake, E. Michelle	Executive Shareholder	11/1/2024	0.20	1,180.00		Correspondence with co-counsel regarding
Rios, Sophia	Shareholder	11/1/2024	2.30	820.00		draft opposition to D's MSJ; review court order and email co-counsel
Drake, E. Michelle	Executive Shareholder	11/4/2024	1.00	1,180.00		Review, redline, and revise draft complaint.
Rios, Sophia	Shareholder	11/4/2024	0.70	820.00		discuss with co-counsel and
Drake, E. Michelle	Executive Shareholder	11/5/2024	1.60	1,180.00		Complete Send to Sophia M. Rios.
Rios, Sophia	Shareholder	11/5/2024	0.10	820.00		schedule call with OC
Rios, Sophia	Shareholder	11/8/2024	1.40	820.00		review and analyze
Rios, Sophia	Shareholder	11/8/2024	1.20	820.00		email OC re call; call with OC re schedule and mediation; calls with co-counsel
Hibray, Jean	Paralegal	11/11/2024	0.30	500.00	150.00	Emails re
Rios, Sophia	Shareholder	11/11/2024	0.30	820.00	246.00	
Hibray, Jean	Paralegal	11/12/2024	0.50	500.00	250.00	Review invoice question, call with US Legal, emails re next steps
Rios, Sophia	Shareholder	11/12/2024	0.80	820.00		call with cocounsel
Rios, Sophia	Shareholder	11/13/2024	0.20	820.00	164.00	review and respond to email from co-counsel re mediation
Rios, Sophia	Shareholder	11/14/2024	1.00	820.00	820.00	draft emails to OC re motion to amend and mediation
Rios, Sophia	Shareholder	11/19/2024	0.10	820.00		email co counsel
Rios, Sophia	Shareholder	11/20/2024	0.20	820.00	164.00	email OC with mediator availability
Rios, Sophia	Shareholder	11/21/2024	0.20	820.00	164.00	email OC with mediator availability
Rios, Sophia	Shareholder	11/22/2024	1.10	820.00	902.00	meet and confer re schedule; call with co-counsel
Rios, Sophia	Shareholder	11/25/2024	0.80	820.00	656.00	Email with co counsel re case schedule; review and revise proposed schedule
Rios, Sophia	Shareholder	11/26/2024	0.10	820.00	82.00	Email co-counsel
Rios, Sophia	Shareholder	11/27/2024	0.10	820.00	82.00	Review email from mediator
Gionnette, Julie	Legal Assistant	12/2/2024	0.20	305.00	61.00	Review mediation session materials; calendar deadlines
Hibray, Jean	Paralegal	12/3/2024	0.10	500.00	50.00	Emails re costs
Rios, Sophia	Shareholder	12/4/2024	0.20	820.00	164.00	review email from mediator and coordinate billing; reschedule call.
Rios, Sophia	Shareholder	12/5/2024	0.10	820.00	82.00	respond to email from co counsel re schedule
Rios, Sophia	Shareholder	12/9/2024	1.50	820.00	1,230.00	finish drafting MSJ opp section
Rios, Sophia	Shareholder	12/16/2024	0.10	820.00		email re
						Call re with Sophia M. Rios,
Drake, E. Michelle	Executive Shareholder	12/17/2024	1.00	1,180.00	1,180.00	Jennifer Murray and Beth Terrell.
Rios, Sophia	Shareholder	12/17/2024	1.80	820.00		review and revise MSJ Opp
Rios, Sophia	Shareholder	12/17/2024	0.20	820.00		review draft joint stip from OC
Rios, Sophia	Shareholder	12/17/2024	1.10	820.00		call with co-counsel
Rios, Sophia	Shareholder	12/18/2024	1.50	820.00		review and revise draft MSJ opp
Rios, Sophia	Shareholder	12/20/2024	1.20	820.00		call with co-counsel
Rios, Sophia	Shareholder	12/23/2024	0.20	820.00		email associate re
Raghavan, Radha	Associate	12/26/2024	2.10	725.00		Reviewing
Rios, Sophia	Shareholder	12/27/2024	0.10	820.00		review ; review and revise opp to MSJ
Rios, Sophia	Shareholder	12/30/2024	0.60	820.00	492.00	call with co-counsel
Gionnette, Julie	Legal Assistant	12/31/2024	0.20	305.00		Review stipulation and order (ECF 52-53); calendar deadlines accordingly
Rios, Sophia	Shareholder	12/31/2024	2.90			review and revise opp to MSJ
Rios, Sophia	Shareholder	1/2/2025	1.30	820.00		review and revise opp to MSJ; call with co-counsel
Raghavan, Radha	Associate	1/6/2025	1.70	725.00		Reviewing discovery
		., 3, 2020	5	0.00	.,_500	1

Hibray, Jean	Paralegal	1/7/2025	0.10	500.00	50.00	Address
Raghavan, Radha	Associate	1/7/2025	5.20			Reviewing discovery
		1/7/2025	0.70	820.00		call with co-counsel; email opposing counsel re schedule
Rios, Sophia	Shareholder	1///2025	0.70	820.00	5/4.00	call with co-counsel, email opposing counsel re schedule
Dogboyon Dodbo	Associate	1/8/2025	1 70	725.00	1 222 50	Reviewing and editing discovery letter to Defendant; reviewing D's document production
Raghavan, Radha	Shareholder	1/8/2025	1.70 0.10	725.00 820.00		letter to d re mediation
Rios, Sophia		1/8/2025	0.10	820.00		draft Plf declaration re MSJ
Rios, Sophia	Shareholder					
Gionnette, Julie	Legal Assistant	1/13/2025	0.20	305.00		Edit letter to Block re mediation related discovery and put on letterhead
Rios, Sophia	Shareholder	1/13/2025	0.50	820.00		draft letter re mediation discovery
Rios, Sophia	Shareholder	1/14/2025	3.20			review and MSJ brief; revise letter to OC re mediation and send
Rios, Sophia	Shareholder	1/15/2025	1.30	820.00		analyze MSJ brief exhibits; review and revise stip re schedule
Rios, Sophia	Shareholder	1/16/2025	0.70	820.00	574.00	send draft stip to OC; call with OC re schedule
						call from OC re motion to seal; draft language for proposed stipulation; send to OC; review
Rios, Sophia	Shareholder	1/17/2025	1.00	820.00		and revise declaration ISO MSJ brief
Rios, Sophia	Shareholder	1/20/2025	0.40	820.00		respond to OC re revisions to stipulation
Gionnette, Julie	Legal Assistant	1/21/2025	0.20	305.00		review docket entries (ECF 56-57)
Rios, Sophia	Shareholder	1/21/2025	2.10	820.00		emails with co-counsel and OC re sealing; finalize brief; review and analyze
Gionnette, Julie	Legal Assistant	1/22/2025	0.20	305.00		Review docket entries (ECF 58-62)
Rios, Sophia	Shareholder	1/22/2025	0.30	820.00	246.00	review filed documents; email w/ co-counsel
Rios, Sophia	Shareholder	1/23/2025	0.50	820.00	410.00	review and analyze
						Review case and . Correspondence with team regarding
Drake, E. Michelle	Executive Shareholder	1/24/2025	0.10	1,180.00	118.00	same.
Gionnette, Julie	Legal Assistant	1/24/2025	0.10	305.00	30.50	Review docket entries (ECF 66-67)
						, ,
Rios, Sophia	Shareholder	1/27/2025	0.30	820.00	246.00	review email and draft joint motion from opposing counsel; review email from co-counsel
Rios, Sophia	Shareholder	1/28/2025	0.50	820.00		review and revise LR 37 motion; analyze defendant's insertion
Rios, Sophia	Shareholder	1/29/2025	1.40	820.00	1,148.00	review and analyze reply ISO MSJ; review and revise joint motions
Rios, Sophia	Shareholder	1/31/2025	0.10	820.00		review edits from OC to LR 37 motion
Gionnette, Julie	Legal Assistant	2/5/2025	0.10	305.00		review docket entries re motion to seal (ECF 71-73)
Rios, Sophia	Shareholder	2/7/2025	0.20	820.00	164.00	messages
Rios, Sophia	Shareholder	2/10/2025	0.20	820.00		review motion to seal
Rios, Sophia	Shareholder	2/12/2025	0.10	820.00		review court order
Rios, Sophia	Shareholder	2/18/2025	0.10	820.00		email with opposing counsel
Rios, Sophia	Shareholder	2/19/2025	0.30	820.00		review email from mediator; email OC
Rios, Sophia	Shareholder	2/20/2025	0.10	820.00		email with co-counsel
Raghavan, Radha	Associate	2/24/2025	0.60	725.00		Call to discuss mediation statement
Rios, Sophia	Shareholder	2/24/2025	1.00	820.00		draft mediation brief
Raghavan, Radha	Associate	2/25/2025	1.40	725.00		Research and drafting mediation statement
ragnavan, nauna	/ 10000late	212312023	1.40	120.00	1,010.00	1.0000a1011 and dialiting iniculation statement
Rios, Sophia	Shareholder	2/25/2025	1.30	820.00		call with co-counsel re mediation; call with opposing counsel re mediation; schedule travel
Hibray, Jean	Paralegal	2/27/2025	0.10	500.00		Review new order, docketing of same
Raghavan, Radha	Associate	2/27/2025	6.20	725.00		Research and drafting mediation statement
Raghavan, Radha	Associate	2/28/2025	2.50	725.00		Research and drafting mediation statement
Drake, E. Michelle	Executive Shareholder	3/3/2025	0.10	1,180.00		Meet to discuss upcoming deadlines, next steps in case.
Hibray, Jean	Paralegal	3/3/2025	0.10	500.00		Meet to discuss upcoming deadlines, next steps in case.

	T-				
	Associate	3/3/2025	4.90		3,552.50 Drafting mediation statement
Rios, Sophia	Shareholder	3/3/2025	4.40		3,608.00 review and revise mediation letter
,	Shareholder	3/4/2025	0.40	820.00	328.00 review and revise mediation brief
,	Shareholder	3/7/2025	0.70	820.00	
Rios, Sophia	Shareholder	3/10/2025	1.80		1,476.00 review and revise mediation letter and term sheet; call with co-counsel
Drake, E. Michelle	Executive Shareholder	3/11/2025	1.70		2,006.00 review, redline, and revise mediation statement
Drake, E. Michelle	Executive Shareholder	3/11/2025	0.60	1,180.00	708.00 call with Sophia M. Rios re: mediation and status of case
Gionnette, Julie	Legal Assistant	3/11/2025	0.30	305.00	91.50 format letter to mediator on S. Rios's letterhead; assemble exhibits; finalize same
Rios, Sophia	Shareholder	3/11/2025	2.90	820.00	2,378.00 review and revise mediation brief; call with co-counsel; finalize and submit mediation brief
•					Review D mediation brief . Correspondence with Co-Lead Counsel
Drake, E. Michelle	Executive Shareholder	3/12/2025	1.50	1.180.00	1,770.00 re: same.
,	Paralegal	3/12/2025	0.10	500.00	
3.					review Block's mediation brief; email with co-counsel; message client; email OC re
Rios, Sophia	Shareholder	3/12/2025	2.40	820.00	
•	Executive Shareholder	3/13/2025	1.00		1,180.00 call re
*	Paralegal	3/13/2025	0.10	500.00	
moray, ocan	r ararogar	0/10/2020	0.10	000.00	i constant and a second
Rios, Sophia	Shareholder	3/13/2025	2.30	820.00	1,886.00 call with co-counsel; call with client; email client; draft
•	Executive Shareholder	3/14/2025	1.20		1,416.00 correspondence with co-counsel re:
	Shareholder	3/14/2025	1.20	820.00	
•	Shareholder	3/17/2025	2.20		1,804.00 travel to mediation in Santa Ana
rtios, coprila	Griarenoidei	3/11/2023	2.20	020.00	attend and participate in mediation; post-mediation correspondence with team and Sophia
Drake, E. Michelle	Executive Shareholder	3/18/2025	6.70	1 180 00	7,906.00 Rios.
-	Shareholder	3/18/2025	7.60		6,232.00 travel to mediation; mediation; travel back to hotel
	Shareholder	3/19/2025	2.00		1,640.00 travel back from mediation
	Shareholder	3/19/2025	0.30	820.00	
	Executive Shareholder	3/20/2025		1,180.00	
-	Shareholder	3/20/2025	0.20	820.00	·
	Shareholder	3/24/2025	0.40	820.00	
	Shareholder	3/26/2025	0.90	820.00	
	Shareholder	3/20/2025	0.10	820.00	
, ,	Shareholder	3/31/2025	0.80	820.00	·
,	Executive Shareholder	4/3/2025	0.50		
Raghavan, Radha	Associate	4/3/2025	0.10	725.00	
D: 0 1:		4/0/000=	6.46	000.00	calls with co-counsel and opposing counsel re term sheet; revise draft term sheet and
, ,	Shareholder	4/3/2025	2.10	820.00	
,	Shareholder	4/4/2025	0.10	820.00	
, ,	Shareholder	4/4/2025	1.70	820.00	
	Legal Assistant	4/7/2025	0.10	305.00	· · · · · · · · · · · · · · · · · ·
,	Shareholder	4/7/2025	0.20	820.00	
,	Shareholder	4/8/2025	1.00	820.00	
-	Executive Shareholder	4/9/2025	0.50		
, 1	Shareholder	4/9/2025	0.10	820.00	
Rios, Sophia	Shareholder	4/10/2025	0.10	820.00	82.00 review and revise term sheet

J ,	Associate	4/11/2025	1.20	725.00		Reviewing term sheet; Drafting settlement agreement
,	Shareholder	4/11/2025	0.50	820.00		finalize term sheet; coordinate drafting of settlement agreement
	Associate	4/14/2025	1.80	725.00		Reviewing term sheet; Drafting settlement agreement
, -	Associate	4/14/2025	0.17	680.00		Discuss case developments with team
,	Executive Shareholder	4/16/2025	0.30	1,180.00		correspondence re settlement administrator selection and RFA
, I	Shareholder	4/16/2025	0.20	820.00		email with co-counsel re settlement agreement
,	Associate	4/17/2025	2.10	725.00		Drafting settlement agreement
, I	Shareholder	4/17/2025	3.40			draft settlement agreement
	Associate	4/18/2025	0.50	725.00		Drafting exhibits to settlement agreement
,	Associate	4/21/2025	4.60	725.00		Drafting exhibits to settlement agreement
, !	Shareholder	4/21/2025	1.10	820.00		send draft settlement agreement to co-counsel; call with co-counsel
	Associate	4/21/2025	1.30	680.00		Review settlement agreement
, -	Associate	4/21/2025	0.70	680.00		Review edits to settlement agreement with co-counsel
Fewer, Colleen	Associate	4/21/2025	0.30	680.00	204.00	Draft correspondence
Raghavan, Radha	Associate	4/22/2025	5.80	725.00		Drafting exhibits to settlement agreement
Rios, Sophia	Shareholder	4/22/2025	0.60	820.00	492.00	review and revise settlement agreement and settlement admin RFP
Rios, Sophia	Shareholder	4/25/2025	0.30	820.00	246.00	review and revise settlement exhibits
Rios, Sophia	Shareholder	4/30/2025	0.50	820.00	410.00	review and revise class notices
Hibray, Jean	Paralegal	5/2/2025	0.30	500.00	150.00	Review recent order, docketing re same
Rios, Sophia	Shareholder	5/6/2025	3.30	820.00	2,706.00	review and revise draft settlement exhibits; send to co-counsel
Fewer, Colleen	Associate	5/6/2025	2.50	680.00	1,700.00	Review draft settlement exhibits
Fewer, Colleen	Associate	5/8/2025	0.50	680.00	340.00	Review complaint
Hibray, Jean	Paralegal	5/9/2025	0.10	500.00	50.00	Draft
Fewer, Colleen	Associate	5/13/2025	0.70	680.00	476.00	Review draft settlement agreement
Fewer, Colleen	Associate	5/15/2025	1.50	680.00	1,020.00	Review Defendant's edits to settlement agreement
	Shareholder	5/19/2025	0.40	820.00	328.00	review defendant edits to settlement agreement; email with co-counsel
•	Associate	5/19/2025	0.60	680.00	408.00	Revisions to settlement agreement
	Shareholder	5/22/2025	0.30	820.00		call with co-counsel re
· · · · · · · · · · · · · · · · · · ·	Associate	5/22/2025	0.20	680.00		Discuss with co-counsel
·	Associate	5/23/2025	0.10	680.00		Pro hac paperwork
	Paralegal	5/26/2025	0.20	500.00		Prepare Fewer pro hac application
	Paralegal	5/27/2025	0.10	500.00		Email re Fewer pro hac filing
	Executive Shareholder	5/29/2025	0.30	1,180.00		review and respond to correspondence re settlement agreement terms
		0,20,200		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		email with co-counsel re settlement agreement; call with co-counsel; draft and send email
Rios, Sophia	Shareholder	5/29/2025	0.90	820.00	738.00	<u> </u>
· · · · · · · · · · · · · · · · · · ·	Associate	5/29/2025	0.60	680.00		Review draft notices
-	Associate	5/29/2025	0.30	680.00		Review defendant's edits to settlement agreement
·	Associate	5/30/2025	0.70	680.00		Review and edit draft notices
	Associate	5/30/2025	0.20	680.00		Read correspondence with opposing counsel
	Associate	6/2/2025	4.80			Draft Motion for Preliminary approval
	Associate	6/3/2025	4.20			Draft motion for preliminary approval and proposed order
, -	Executive Shareholder	6/4/2025	2.40	1.180.00	2.832.00	review, redline, and revise motion for preliminary settlement approval
,	Associate	6/5/2025	0.30	680.00		Call with potential settlement administrator
· ·	Associate	6/9/2025	2.90	680.00		Draft motion for preliminary approval
	Legal Assistant	6/10/2025	0.60	305.00		formatting motion for preliminary approval; run TOC
Cionnette, Julie	Legai Assistant	0/10/2023	0.00	303.00	100.00	pormatting motion for preliminary approval, full 100

Fewer, Colleen	Associate	6/10/2025	0.90	680.00		Draft declaration for motion for preliminary approval
Gionnette, Julie	Legal Assistant	6/11/2025	0.40	305.00		Formatting Drake declaration iso motion for preliminary approval
Hibray, Jean	Paralegal	6/11/2025	0.20	500.00		Emails with C Fewer, pull information and circulate
Fewer, Colleen	Associate	6/11/2025	1.20	680.00		Review settlement administrator proposals
Fewer, Colleen	Associate	6/11/2025	0.90	680.00		Draft declaration for motion for preliminary approval
Fewer, Colleen	Associate	6/12/2025	0.90	680.00		review draft of motion for preliminary approval
Fewer, Colleen	Associate	6/12/2025	1.00	680.00		Review correspondence from settlement administrators
Fewer, Colleen	Associate	6/13/2025	0.40	680.00		Read correspondence from settlement administrators
Fewer, Colleen	Associate	6/13/2025	0.50	680.00	340.00	Review Defendant's edits to settlement agreement
						review, redline, and revise memo in support of preliminary approval and most recent
Drake, E. Michelle	Executive Shareholder	6/16/2025	3.20	1,180.00	3,776.00	version of settlement agreement
Fewer, Colleen	Associate	6/16/2025	0.70	680.00		Review settlement agreements edits from opposing counsel
Fewer, Colleen	Associate	6/16/2025	0.10	680.00		Discuss settlement with colleague
Fewer, Colleen	Associate	6/16/2025	0.10	680.00		email client
Fewer, Colleen	Associate	6/17/2025	0.30	680.00		Review edits to motion
Fewer, Colleen	Associate	6/17/2025	0.40	680.00		Review edits to settlement agreement
Hibray, Jean	Paralegal	6/18/2025	0.30	500.00		Emails, call re
Fewer, Colleen	Associate	6/18/2025	0.10	680.00		Call client
Drake, E. Michelle	Executive Shareholder	6/19/2025	0.30	1,180.00		correspondence with opposing counsel re status of settlement agreement and timing
Drake, E. Michelle	Executive Shareholder	6/19/2025	0.30	1,180.00		Call with
Drake, E. Michelle	Executive Shareholder	6/19/2025	1.20	1,180.00		calls with co-counsel re: settlement agreement, and further correspondence re: same
Fewer, Colleen	Associate	6/19/2025	0.30	680.00		review correspondence from opposing counsel
Hibray, Jean	Paralegal	6/20/2025	0.10	500.00		Review new order, docket accordingly
Fewer, Colleen	Associate	6/20/2025	0.30	680.00		Call with opposing counsel
Fewer, Colleen	Associate	6/20/2025	0.50	680.00		Draft motion to extend time
Drake, E. Michelle	Executive Shareholder	6/24/2025	0.40	1,180.00	472.00	review, redline, and revise declaration in support of motion for preliminary approval
Hibray, Jean	Paralegal	6/25/2025	0.30	500.00	150.00	Update declaration draft, email re same
Fewer, Colleen	Associate	6/25/2025	0.40	680.00	272.00	Draft declaration
Fewer, Colleen	Associate	6/26/2025	0.30	680.00	204.00	review correspondence from co-counsel
Hibray, Jean	Paralegal	6/27/2025	0.10	500.00	50.00	Prepare fully executed agreement; emails re same.
Fewer, Colleen	Associate	6/27/2025	0.20	680.00		review correspondence from opposing counsel and settlement administrator
Fewer, Colleen	Associate	6/27/2025	0.80	680.00		Review settlement agreement
Drake, E. Michelle	Executive Shareholder	6/30/2025	0.20	1,180.00	236.00	review and approve changes to declaration in support of preliminary approval
Fewer, Colleen	Associate	6/30/2025	0.10	680.00	68.00	review edits to declaration in support of preliminary approval motion
Fewer, Colleen	Associate	7/1/2025	0.10	680.00	68.00	read email from opposing counsel
Fewer, Colleen	Associate	7/2/2025	0.10	680.00		Read correspondence from settlement administrator
Fewer, Colleen	Associate	7/3/2025	0.10	680.00		Review docket
Fewer, Colleen	Associate	7/3/2025	0.20	680.00		Review correspondence from settlement administrator
Fewer, Colleen	Associate	7/9/2025	0.20	680.00	136.00	Review correspondence from settlement administrator
Fewer, Colleen	Associate	7/9/2025	0.30	680.00	204.00	Review correspondence from settlement administrator
						review potential escrow agreement. Call with partner re need for escrow given terms of settlement agreement. Arrange and conduct call with Citibank representative re: distribution
Drake, E. Michelle	Executive Shareholder	7/23/2025				account and potential terms, correspondence with Co-Lead Counsel regarding same
Fewer, Colleen	Associate	7/23/2025	0.40	680.00	272.00	Review correspondence from administrator and opposing counsel

Dualsa E Miahalla	Evenutive Chambaldon	7/05/0005	0.20	4 400 00	
Drake, E. Michelle	Executive Shareholder	7/25/2025		1,180.00	354.00 correspondence with opposing counsel and team re account terms for settlement funds
Fewer, Colleen	Associate	7/28/2025	0.20		136.00 Review correspondence from opposing counsel
Fewer, Colleen	Associate	7/29/2025	0.60	680.00	408.00 Review order granting preliminary approval
					call with Co-Lead Counsel re settlement administration and timeline to final approval.
Drake, E. Michelle	Executive Shareholder	7/30/2025		1,180.00	944.00 correspondence with opposing counsel re claims process and website administration.
Hibray, Jean	Paralegal	7/30/2025	0.40		200.00 Review agreement, order, set up timeline and docket accordingly
Fewer, Colleen	Associate	7/30/2025	0.10		68.00 Review correspondence from opposing counsel
Fewer, Colleen	Associate	7/30/2025	0.20		136.00 Review deadlines
Fewer, Colleen	Associate	7/30/2025	0.40	680.00	272.00 Discuss with co-counsel
Hannaway, James	Associate	7/30/2025	0.3	850	255 Participate in team strategy call
Drake, E. Michelle	Executive Shareholder	7/31/2025	0.60	,	708.00 call with J Murray re settlement administration. call with
Fewer, Colleen	Associate	7/31/2025	0.20		136.00 Review correspondence with opposing counsel
Fewer, Colleen	Associate	7/31/2025	0.30		204.00 Call with bank
Fewer, Colleen	Associate	7/31/2025	0.30		204.00 Call with opposing counsel
Fewer, Colleen	Associate	8/5/2025	0.40	680.00	272.00 Review correspondence from settlement administrator
Fewer, Colleen	Associate	8/6/2025	0.10	680.00	68.00 Discuss with co-counsel
Fewer, Colleen	Associate	8/7/2025	0.30	680.00	204.00 Review correspondence with settlement administrator
Fewer, Colleen	Associate	8/10/2025	0.20	680.00	136.00 Review correspondence from settlement administrator
Fewer, Colleen	Associate	8/11/2025	0.30	680.00	204.00 Review correspondence from settlement administrator
Fewer, Colleen	Associate	8/13/2025	0.10	680.00	68.00 Review correspondence from opposing counsel
Fewer, Colleen	Associate	8/13/2025	0.30	680.00	204.00 Review postcard notice
Fewer, Colleen	Associate	8/14/2025	0.10	680.00	68.00 Review correspondence from settlement administrator
Hibray, Jean	Paralegal	8/18/2025	0.10	500	50.00 Review lodestar/costs, email re same
3 /	Ŭ				Review
Hibray, Jean	Paralegal	8/19/2025	1.00	500	500.00 email re same
Fewer, Colleen	Associate	8/20/2025	0.20	680	136.00 review correspondence from settlement administrator
Fewer, Colleen	Associate	8/22/2025	0.30	680	204.00 Review IVR script
Fewer, Colleen	Associate	8/26/2025	0.10	680	68.00 correspondence from settlement administrator
Fewer, Colleen	Associate	8/26/2025	0.60	680	408.00 review claims website
Fewer, Colleen	Associate	8/26/2025	0.10	680	68.00 Correspondence regarding claims website
Fewer, Colleen	Associate	8/27/2025	0.20	680	136.00 Correspondence with opposing counsel and settlement administrator
Fewer, Colleen	Associate	8/27/2025	0.50	680	340.00 Call with opposing counsel
Fewer, Colleen	Associate	8/27/2025	0.20	680	136.00 Discussion with co-counsel
Hibray, Jean	Paralegal	8/28/2025	0.40	500	200.00 Update fees and costs entries for filing; emails re same
Fewer, Colleen	Associate	8/28/2025	0.30	680	204.00 Review emails with settlement administrator and opposing counsel
Fewer, Colleen	Associate	8/28/2025	0.40	680	272.00 Review claims website
Hibray, Jean	Paralegal	9/3/2025	0.20	500	100.00 Participate in team meeting
Fewer, Colleen	Associate	9/3/2025	0.10	680	68.00 Discuss at team meeting
Fewer, Colleen	Associate	9/5/2025	0.10	680	68.00 email settlement administrator
Fewer, Colleen	Associate	9/5/2025	0.10	680	340.00 Communicate with client
Hibray, Jean	Paralegal	9/10/2025	0.30	500	50.00 Weekly case meeting
Fewer, Colleen	Associate	9/10/2025	0.10	680	136.00 Review claims report
		9/10/2025	0.20	680	68.00 Discussion at team meeting
Fewer, College	Associate	9/10/2025	0.10	680	68.00 Contact client
Fewer, Colleen	Associate	9/10/2025	0.10	080	00.00 CONTACT CHEFT

Case 2:23-cv-01969-JHC Document 100-1 Filed 09/25/25 Page 20 of 20

Hannaway, James	Associate	9/10/2025	0.1	850	85 Participate in weekly meeting
Fewer, Colleen	Associate	9/11/2025	0.10	680	68.00 communicate with client
Fewer, Colleen	Associate	9/15/2025	0.10	680	68.00 Review correspondence from settlement administrator
Fewer, Colleen	Associate	9/16/2025	0.10	680	68.00 Email settlement administrator
Hibray, Jean	Paralegal	9/18/2025	0.10	500	50.00 Discuss fee entries with attorney
Fewer, Colleen	Associate	9/18/2025	0.20	680	136.00 Discussion at team meeting
Fewer, Colleen	Associate	9/18/2025	2.40	680	1,632.00 Review draft motion for fees
Hannaway, James	Associate	9/18/2025	0.2	850	170 Participate in weekly internal call
Hibray, Jean	Paralegal	9/19/2025	0.50	500	250.00 Draft Drake declaration, circulate
Fewer, Colleen	Associate	9/19/2025	0.30	680	204.00 Review status report from claims administrator
Fewer, Colleen	Associate	9/19/2025	0.50	680	340.00 Review draft fee petition
Hannaway, James	Associate	9/19/2025	0.8	850	680 Edit fee motion and circulation internally
					review, redline, and revise motion in support of attorneys' fees. review prior briefs and
					correspondence with team about better citations for multipliers from WDWash and also
Drake, E. Michelle	Executive Shareholder	9/22/2025	1.40	1180	1,652.00 better cites from other 9th Circuit courts.
Fewer, Colleen	Associate	9/22/2025	1.20	680	816.00 Review draft of motion for attorneys fees
Fewer, Colleen	Associate	9/22/2025	0.10	680	68.00 Call with client
Hannaway, James	Associate	9/22/2025	1.2	850	1,020.00 Edit fee motion; research fee multipliers; circulate to external team